





Question		Answer	Marks	Guidance
2	(ii)	$\beta = \alpha$ $\cos 2\alpha = \frac{1 - \tan^2 \alpha}{\sec^2 \alpha}$ $= \frac{1 - \tan^2 \alpha}{1 + \tan^2 \alpha}$	M1	$\beta = \alpha$ used , Need to see $\sec^2 \alpha$
		A1	Use of $\sec^2 \alpha = 1 + \tan^2 \alpha$ to give required result Answer Given	
		OR, without Hence, $\cos 2\alpha = \cos^2 \alpha \left(1 - \frac{\sin^2 \alpha}{\cos^2 \alpha}\right)$ $= \frac{1}{\sec^2 \alpha} (1 - \tan^2 \alpha)$ $= \frac{1 - \tan^2 \alpha}{1 + \tan^2 \alpha}$	M1	Use of $\cos 2\alpha = \cos^2 \alpha - \sin^2 \alpha$ soi Simplifying and using $\sec^2 \alpha = 1 + \tan^2 \alpha$ to final answer Answer Given Accept working in reverse to show RHS=LHS, or showing equivalent
			[2]	
2	(iii)	$\cos 2\theta = \frac{1}{2}$ $2\theta = 60^\circ, 300^\circ$ $\theta = 30^\circ, 150^\circ$	M1	Soi or from $\tan^2 \theta = 1/3$ oe from $\sin^2 \theta$ or $\cos^2 \theta$
		A1	First correct solution	
		A1	Second correct solution and no others in the range SC B1 for $\pi/6$ and $5\pi/6$ and no others in the range	
			[3]	



<p><b>4</b></p> $\tan(\theta + 45) = \frac{\tan \theta + \tan 45}{1 - \tan \theta \tan 45}$ $= \frac{\tan \theta + 1}{1 - \tan \theta}$ <p><math>\Rightarrow \frac{\tan \theta + 1}{1 - \tan \theta} = 1 - 2 \tan \theta</math></p> <p><math>\Rightarrow 1 + \tan \theta = (1 - 2 \tan \theta)(1 - \tan \theta)</math></p> $= 1 - 3 \tan \theta + 2 \tan^2 \theta$ <p><math>\Rightarrow 0 = 2 \tan^2 \theta - 4 \tan \theta + 2 \tan \theta (\tan \theta - 2)</math></p> <p><math>\Rightarrow \tan \theta = 0</math> or <math>2</math></p> <p><math>\Rightarrow \theta = 0</math> or <math>63.43</math></p>	<p>M1</p> <p>A1</p> <p>M1</p> <p>A1</p> <p>M1</p> <p>A1A1</p> <p>[7]</p>	<p>oe using sin/cos</p> <p>multiplying up and expanding any correct one line equation solving quadratic for <math>\tan \theta</math> oe</p> <p>www</p> <p>-1 extra solutions in the range</p>
---	--	---

<p><b>5</b></p> $\sin(\theta + \alpha) = 2 \sin \theta$ <p><math>\Rightarrow \sin \theta \cos \alpha + \cos \theta \sin \alpha = 2 \sin \theta</math></p> <p><math>\Rightarrow \tan \theta \cos \alpha + \sin \alpha = 2 \tan \theta</math></p> <p><math>\Rightarrow \sin \alpha = 2 \tan \theta - \tan \theta \cos \alpha</math></p> $= \tan \theta (2 - \cos \alpha)$ <p><math>\Rightarrow \tan \theta = \frac{\sin \alpha}{2 - \cos \alpha} *</math></p> $\sin(\theta + 40^\circ) = 2 \sin \theta$ <p><math>\Rightarrow \tan \theta = \frac{\sin 40}{2 - \cos 40} = 0.5209</math></p> <p><math>\Rightarrow \theta = 27.5^\circ, 207.5^\circ</math></p>	<p>M1</p> <p>M1</p> <p>M1</p> <p>E1</p> <p>M1</p> <p>A1 A1</p> <p>[7]</p>	<p>Using correct Compound angle formula in a valid equation dividing by <math>\cos \theta</math></p> <p>collecting terms in <math>\tan \theta</math> or <math>\sin \theta</math> or dividing by <math>\tan \theta</math> oe www (can be all achieved for the method in reverse)</p> $\tan \theta = \frac{\sin 40}{2 - \cos 40}$ <p>-1 if given in radian</p> <p>-1 extra solutions in the rang</p>
---	--	--

<p><b>6</b></p> $2 \cos 2x = 2(2 \cos^2 x - 1) = 4 \cos^2 x - 2$ <p><math>\Rightarrow 4 \cos^2 x - 2 = 1 + \cos x</math></p> <p><math>\Rightarrow 4 \cos^2 x - \cos x - 3 = 0</math></p> <p><math>\Rightarrow (4 \cos x + 3)(\cos x - 1) = 0</math></p> <p><math>\Rightarrow \cos x = -3/4</math> or <math>1</math></p> <p><math>\Rightarrow x = 138.6^\circ</math> or <math>221.4^\circ</math> or <math>0</math></p>	<p><b>M1</b></p> <p><b>M1</b></p> <p><b>M1dep</b></p> <p><b>A1</b></p> <p><b>B1 B1</b></p> <p><b>B1</b></p> <p><b>[7]</b></p>	<p>Any double angle formula used</p> <p>getting a quadratic in <math>\cos x</math> attempt to solve for <math>-3/4</math> and <math>1</math></p> <p>139,221 or better www</p> <p>-1 extra solutions in range</p>
--	---	--